History 112

Industrial Revolution Worksheet #1

Name:

Britain and the Industrial Revolution
The Industrial Revolution was a period of great changes in British society and industry. It began around 1760 and continued through the 1800’s, spreading to many other countries as time went on.
The key features of the Industrial Revolution are as follows:

· Machines replaced human labor

· Water and steam power were put to use

· The use of coal, iron and steel were common

· Factories replaced cottage industry

· People moved from farms to factories
· Society was largely composed of upper class (Bourgeoisie) and working class (Proletariat)

Why Britain?

· Large quantities of coal and iron

· Navigable rivers

· Natural harbors

· Temperate climate

· Medical advances led to population increases

· Advanced agriculture

· Strong foreign trade

· Money for ventures

· Britain was not at war from 1815 on
The Textile Industry

In the days of the cottage industry, cloth was produced by spinning wheel and loom. Quantity was limited and production was slow. The textile industry was the first one to be affected by mechanization. These are the key developments:

· The flying shuttle, invented by John Kay in 1733, allowed a weaver to weave a wider piece of cloth more quickly
· The spinning jenny, invented by James Hargraves in 1768, increased the output of thread to eight times faster
· The water frame, invented by Richard Arkwright in 1769, was used to harness the power of water. This machine powered many others and it lead to the move from the farm to the factory. Since it was very large and had to be kept in a building near water, workers had to be brought to it.
· In the 1780’s, factories began to use steam engines for power

The Iron Industry

The iron industry also became mechanized around the 1700’s. The smelting process was developed by Abraham Darby in 1709. The steam engine provided the power for blast furnaces and was eventually used throughout the iron production process.

Iron production also depended on coal and railways were developed to provide it.

Transportation

Transportation was improved through the construction of roads and canals in the latter half of the eighteenth century. This lowered the costs of moving raw materials and also made moving them easier.

Railways were well developed by the 1820’s and the railway boom peaked by 1850. Railways created more jobs and they were also an export. Many countries, the world over, imported their railroad materials and machinery from British factories.

In 1850, over half of the British population lived in cities and worked in manufacturing.
Questions

1. Name three of the key features of the Industrial Revolution.

2. Name three things that made Britain an ideal place for the Industrial Revolution to take place.

3. Name two machines that changed the textile industry.

4. What type of metal was key to the development of the Industrial Revolution?

5. What mode of transportation peaked by 1850 and was sold by Britain to other countries around the world?

